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Match #33


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This novel’s protagonist attends Lark Creek Elementary School and has four sisters: Brenda, Ellie, May Belle, and Joyce Ann. It ends with the drowning of the protagonist’s best friend. In what Katherine Paterson novel do Jesse Aarons and Leslie Burke cross a creek by using a rope swing, establishing their own fictional kingdom? 
ANSWER: Bridge to Terabithia 

2.
It is rootless and thus can grow in sand, sterile soil, or bare rock.  A recent experiment showed that it can even survive in outer space.  It is eaten on by reindeer and butterfly larvae.  Name this symbiotic association of a fungus with a photosynthetic partner that is usually green algae or cyanobacteria.

ANSWER: lichen
3.
Only the Jewel Tower and the crypt of St. Stephen’s Chapel survived this building’s 1834 fire. Charles Barry designed a Gothic-styled replacement. The Victoria Tower and Clock Tower, also known as ‘Big Ben,’ are parts of what palace, the home of the United Kingdom’s Parliament? 

ANSWER: Westminster Palace

4.
Along with this company's purchase by the Cerberus Group in May came a change in its logo, from the former winged design back to the trademark Pentastar used until 1998.  Dieter Zetsche (zeh-CHEH) engineered the spin-off of what company from its former parent, Daimler (DIME-ler)?
ANSWER: Chrysler (Do not accept DaimlerChrysler)

5.
In the Planet of the Apes remake, he was the dying ape that gave a pistol to his son. He supported the Gun Control Act of 1968, a marked contrast to a 2000 speech where he said his Second Amendment rights would be taken ‘from my cold, dead hands.’ What actor’s roles include the lead in Ben-Hur, Moses in The Ten Commandments, and asking a ‘damn, dirty ape’ to stop touching him in the original Planet of the Apes?
ANSWER: Charlton Heston
6.
Also known as Torricelli’s trumpet, it is formed from the graph of y equals one over x, with x greater than or equal to one and rotating about the x-axis.  It has infinite surface area but a finite volume of pi.  Name this figure named after the instrument of the archangel said to announce Judgment Day.

ANSWER: Gabriel’s horn
7.
In Part One, Joan of Arc is portrayed as a witch. In Part Two, the title character marries Margaret of Anjou and the War of the Roses begins. In Part Three, Richard of Gloucester kills the title character, who is a prisoner in the Tower of London. These are the three parts of what king’s life, as told by Shakespeare? 

ANSWER: Henry VI
8.
He was called ‘Panditji,’ or Scholar. While Prime Minister, this founder of the Non-Aligned Movement kicked the Portuguese out of Goa in 1961, and lost a war in 1962 against China. He was the father of Indira and grandfather of Rajiv. Who was the first prime minister of an independent India? 

ANSWER: Jawaharlal (juh-WAH-har-lul) Nehru (NAY-roo)

9.
One of the strongest on record killed thousands in Lisbon, Portugal, and Cornwall, England, in 1755 in a 4 hour span. More often associated with the Pacific Ocean are what events, usually seismically triggered, that can move through the oceans at intense speeds and flood entire cities, and are sometimes falsely labeled tidal waves?

ANSWER: tsunami (do not accept or prompt on ‘tidal waves’)
10.
This comic strip originally followed a group of students at Walden College. It uses symbols to represent real people, such as a waffle for President Clinton and a cowboy hat or Roman helmet, atop an asterisk, for President Bush. What comic strip, which follows the story of BD, Zonker, and the Hunter S Thompson-inspired Uncle Duke, is currently in its 36th year of being drawn by Garry Trudeau?

ANSWER: Doonesbury
11.
He was William McKinley’s first Secretary of State and was Secretary of the Treasury under Rutherford B. Hayes. This Ohio Republican increased the amount of silver the U.S. government bought with his ‘Silver Purchase Act.’ In 1890, who also sought to regulate monopolies with his ‘Antitrust Act?’
ANSWER: John Sherman
12.
It was discovered by its namesake French scientist in 1787 and quantified in 1808 by another French scientist named Joseph Gay-Lussac.  Unlike Boyle’s law, it keeps pressure constant.  Name this law that states that the volume of a gas is directly proportional to its temperature in Kelvin.

ANSWER: Charles’ law

13.
In 2000, John Paul the Great declared him the patron saint of politicians. While on the scaffold on July 6, 1535, he said he was ‘the king’s good servant, and God’s first.’ He had refused to recognize Henry VIII’s position as head of the English church. The film A Man for All Seasons was based on the life of what author of Utopia? 
ANSWER: Thomas More
14.
As a pilot, this head of Lakota Trading became the first pilot to circumnavigate the world solo and without stopping for fuel.  Financed by friend Richard Branson, he was scouting for empty lakebeds in Nevada for an attempt to break the land speed record when he disappeared.  Who was the first man to fly a hot air balloon around the world?

ANSWER: Steve Fossett
15.
At about 0.002426 nanometers, it is equal to Planck’s constant divided by electron mass and the speed of light.  Name this wavelength used in an eponymous equation for x-ray scattering by electrons that is named for the 1927 winner of the Nobel Prize for Physics.

ANSWER: Compton wavelength

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
It is what TX stands for in 100Base-TX. What cabling standard winds two conductors together to cancel out electromagnetic interference? 

ANSWER: Twisted Pair 

1B.
On December 2, 1954, he was censured by the Senate in a 67 to 22 vote. What Wisconsin senator accused several State Department employees of being Communists?

ANSWER: Joseph McCarthy
2A.
What type of sentence, such as “I sang my song,” contains one independent clause and no other clauses?

ANSWER: simple
2B.
In 1991, what singer returned to the Billboard charts 26 years after his death, singing a duet of his signature song, “Unforgettable,” with his daughter Natalie?

ANSWER: Nat King Cole
3A.
THIS IS A COMPUTATION QUESTION. How many distinct ways can the letters in the word adding be arranged?

ANSWER: 360
3B.
Roland Deschain is the central figure in what series of seven books by Stephen King?

ANSWER: The Dark Tower
4A.
Animal Planet airs a show focusing on the Whiskers, a clan of what breed of animals, related to the mongoose, found in the Kalahari Desert?

ANSWER: Meerkat Manor

4B.
THIS IS A COMPUTATION QUESTION. Where is the vertex of the parabola x = -.5 (y plus 4) squared (read as: negative point five times the quantity y plus 4 squared) minus 7?

ANSWER: (-7, -4)
5A.
What foreign policy doctrine, introduced in 1823, stated that the United States would view any attempt at European colonization in the Americas as a hostile action? 

ANSWER: Monroe Doctrine
5B.
What taxonomic category comes between family and species?

ANSWER: genus
6A.
Heimdall was the guardian of what bridge that connected Midgard to Asgard?  


ANSWER: Bifrost or Rainbow bridge

6B.
THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix with top row of 3 and -5 and bottom row of 6 and 15?

ANSWER: 75
7A.
THIS IS A COMPUTATION QUESTION. What is the complement of a 54-degree angle?

ANSWER: 36 degrees
7B.
What name is given to plants and animals such as kudzu and the zebra mussel that are imported from other regions of the world and identified as likely to cause harm to the local economy or ecosystem?

ANSWER: invasive species
8A.
What metalloid has an average atomic mass of 28.09?

ANSWER: silicon
8B.
What grandmother of Charles V was the wife of Ferdinand of Aragon? 

ANSWER: Isabella of Castile

9A.
Lorbulgrud is the capital of what nation, populated by giant people, that was the second nation visited by Lemuel Gulliver? 

ANSWER: Brobdingnag 

9B.
In the Spanish preterit tense, what two common irregular verbs have the exact same conjugation?

ANSWER: ser (sayr) and ir (eer)

10A.
Kitty Dukakis, wife of the former Presidential candidate, underwent what psychiatric technique that involves inducing seizures with small amounts of voltage? 

ANSWER: electroshock therapy or electroconvulsive therapy (accept ECT or electric shock therapy)
10B.
Milan’s church of Santa Maria della Grazie (DEL-lah gra-TSEE-ay) is the home to what famous mural by Leonardo da Vinci that portrays thirteen figures? 

ANSWER: The Last Supper
Third period, 15 toss-ups, 10 points each

1.
His later plays like The New Inn were failures. The Isle of Dogs earned him a prison sentence, and Sejanus earned him interrogation. In 1616, he was given an annual pension of 60 pounds, possibly becoming the first Poet Laureate. What playwright wrote Every Man in His Humour, Volpone, and The Alchemist? 
ANSWER: Ben Jonson
2.
The Lachman test is used to diagnose a tear of it.  Athletes who have injured it include Lindsey Harding, Brandon Rush, and Donovan McNabb.  It goes from the lateral condyle of the femur to the intercondyloid eminence of the tibia.  Name this body part that along with the PCL, MCL, and LCL, makes up the major ligaments of the knee.

ANSWER: ACL or anterior cruciate ligament
3.
She was first woman to graduate from the Unversity of Rome’s La Sapienza (sah-pee-EN-tsah) Medical School. Her success with mentally retarded students led her, in 1907, to open the Children’s House in Rome as a place to put her educational ideas into practice. Who is the namesake of a teaching method that stresses self-directed learning?  

ANSWER: Maria Montessori
4.
The Ahmadiyya (ah-mah-DEE-yah) sect of Islam believes he died in Kashmir of old age while he was searching for the Lost Tribes of Israel. The Gnostics paired this ‘secret bringer’ with an Aeon named Sophia. Jews believe he arrived around 450 years too late to be a prophet; thinking he was Messiah is apostasy! He told his chief disciple he would make him a ‘fisher of men.’ Who, according to the Gospels, was crucified sometime around 30 AD? 
ANSWER: Jesus Christ (accept answers that contain Jesus)

5.
THIS IS A COMPUTATION QUESTION. How many total bases is 15 home runs, 5 triples, 18 doubles, and 71 singles, given that 15 times 4 is 60, 5 times 3 is 15, 18 times 2 is 36, and 71 times 1 is 71?

ANSWER: 182 bases

6.
David Hume found this area of philosophy to contain ‘nothing but sophistry and illusion.’ Karl Popper said its statements were not meaningless, but only non-testable. Aristotle’s seminal work on it has three parts: ontology, theology, and universal science. Any study of things beyond the natural world, such as ‘the answer to Life, the Universe, and Everything,’ is part of what branch of philosophy? 

ANSWER: metaphysics 
7.
Independent civilization in this region started with the so-called A-Group around 3000 BC and ended with the fall of the Makurian kingdom in 1300 AD. It stretched from the first cataract of the Nile down to the site of modern Khartoum. The kingdoms of Meroë and Kush were located in what region to the south of Egypt? 
ANSWER: Nubia 
8.
This union’s recent presidents include Tony Boyle, Sam Church and Richard Trumka. It was involved in the Harlan County War; its planned nationwide strike in November 1974 was averted before cold set in. In 1969, it ensured Congress helped sufferers of black lung disease. What union remains powerful in Virginia’s coal country? 
ANSWER: United Mine Workers or UMW
9.
There are about 1800 living species of this organism and it has a vascular water system with projections called tube feet.  Its cardiac stomach may be pushed out of its body to engulf and digest food.  Name this type of echinoderm (eh-KIN-oh-derm) of the class Asteroidea which usually has five arms, an example of which is Sponge Bob’s friend Patrick.

ANSWER: starfish
10.
This novel featured John Solomon Rarey’s training ideas. In it, Grace MacLean is brought out of her accident-caused depression and her animal, Pilgrim, is made trainable again. Buck Brannaman was the real-life model for the main character, Tom Booker. What Nicholas Evans novel is about a man that can reach traumatized equines?
ANSWER: The Horse Whisperer
11.
Cyrill Demian patented an instrument with the same name, but it only had one keyboard; today, they have two keyboards, with the keys pushed in towards the player. They are split into “piano” and “button” varieties depending on how the keyboards are laid. They are prominent in several genres of music: French musette, Mexican norteño, Cajun zydeco, and of course polka. What instruments make noise by being squeezed?

ANSWER: accordion(s) (DO NOT accept concertina)

12.
It is the name of the Ockham that originated Ockham’s Razor. It had become popular after the Norman Conquest – in fact, 110 knights with this name feasted together in 1171 and didn’t let anyone with another name eat with them. Coming from Germanic words meaning ‘desire’ and ‘helmet,’ what name is shared by 3 kings of the Netherlands, 3 kings of England, 1 king of the United Kingdom, and 2 Emperors of Germany?

ANSWER: William
13.
Portions of it include the Court of the Blessing, the Court of the Lions, and the Gate of Pomegranates. In 1238, ibn Nasr expanded it to its current splendor, but it was nearly destroyed by the retreating French during the Peninsular War. Its watchtower saw Ferdinand and Isabella’s flag raised in 1492. “The red” is the literal translation from the Arabic of what palace complex in Granada?  

ANSWER: Alhambra
14.
It appears silvery when pure and yellow when oxidized.  It was first produced and isolated in 1941 by Glenn Seaborg and its most important isotope has a half-life of 24,100 years and a mass number of 239.  Name this radioactive element with atomic number 94 and chemical symbol Pu that is named after a former planet.

ANSWER: plutonium
15.
There are three common meanings of this word. One is to get a justly-earned reward or punishment. Another is to leave something without intending to return, especially a spouse or the army. The ‘Great American’ one was an old name for the Great Plains. Antarctica is the largest of what arid region of the Earth, usually associated with cactuses and the Sahara?
ANSWER: desert (accept either pronounciation)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
THIS IS A COMPUTATION QUESTION. What is the value of 3 to the negative fifth power, given that this is the reciprocal of 3 to the fifth, which is 243?

ANSWER: 1/243
2.
His novel The Centaur is about a boy suffering, as he does, from psoriasis. In 2006, he profiled Ahmad Ashmawy Molloy in Terrorist. His character Darryl van Horne seduces three supernatural women in The Witches of Eastwick. Who created the character of Harry Angstrom in five works, starting with 1960’s Rabbit, Run? 
ANSWER: John Updike
3.
A state park for this mountain is surrounded by the Pisgah National Forest. The Blue Ridge Parkway runs only 1,000 feet from its summit, making climbing it relatively easy. Until 1845, it was the highest point in the United States; it is still the highest point east of the Mississippi. What is this mountain in North Carolina? 
ANSWER: Mount Mitchell
4.
The company he founded is now a part of United Technologies, and makes the Cypher II and the S-92. He designed a snowmobile with a propeller that ran on skis. He was made part of the Order of St. Vladimir for designing the World War I Ilya Muromets bomber. The first four-engine airplane was invented by what Ukrainian who also made the first modern helicopter? 

ANSWER: Igor Sikorsky
5.
His Portrait of a Man in a Turban is probably a self-portrait. This painter of Madonna with Child Reading painted many of his works, including The Virgin of Chancellor Rubin for officials in the Duchy of Burgundy. Hubert may have been the brother of what Dutch painter of The Arnolfini Wedding and the Ghent Altarpiece? 
ANSWER: Jan (or Johannes) van Eyck (van ike)

All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

